B N EEHERS a 1:3.000

Al [ EI#E (FEI®) ¢ ; % 100m
Bl ETEE (EIIE)

| [ EIHE (EEIE)

6.2.12(9)
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)
D

6.2.23
29
2)
12 13 17
6.2.31
6.2.31
eSS HA N | NNE| NE | ENE| E | ESE| SE | SSE SSW [ SW | WNW | W | WNW [ NW [ NNW | FFEEE
e EEEHERAEE %) | 2.0 2.4 1.9 86|3.3]11|07][03[07]|86]|22.6|65|1.0]05]04|30]| 365
B~ mymseo/s | 15| 15| ta|at|tolrz| st rale|ifne|ts]|ns| —
= |AWHBSEE®| 16| 1.5(3.1(88]39|1.6|05]|04]03|79(269[7.1[12[05]1L1]1L5]| 319
(6~8A)| EymsmEm/s) | 13| 15| 5|21 telns|te|lne|lrolts|us|le|relnt]|rs]ns| —
= | BEEHBEEE® | 3.3 (2.7 401805 1[08|05[07)04]32|71(36[10]L1[14]43]| 429
O~ | pymaso/s | 1|15 ta|lrs| sl islrelrelis|ielee|aluslis]is| —
e JEV T EHFRAEAE () | 0.8 [ 0.6 | 1.O| 46 [3.3]0.6]0.4[0.3]08[97(239|35[08]06]04[07]| 481
C~2A) | pymasEo/s |Le|te|te|ts|nalra| ool valnalel|nt]ra]es —
u 1.0 m/s
16.0 (6.-2.9) 10
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@)

1.5
6.2.32 0.1 4.7 km? 0.1
5.6 km? 0.2 7.1 km? 0.1 4.7 km?
6.2.32 1.5
km?
11 12

20;32410 1.2 0. 0.9
20;32410 7.1 2. 4.0
20;32310 4.5 1. 3.0
20332410 2.5 4. 4.4
20;32510 0.5 1. 1.1
203326 0.2 0. 0.1
203326 1.1 1. 1.8
20532610 1.1 1. 1.8
203(7)28 3.4 2. 2.7
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(b)
@)

10

@)

km?

0.1 4.7
0.1

24

km?

4.7

km?

0.1 5.6
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km?

6.2.32

10

0.2 7.1
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6.2.3

¢y
@
)
)
JEA JEA
D
a) JEA
) 1.0 40< 90<
Q A 4
C(x, 2) = (u-sinLG)O-S L exp (—B 27) X W (X2 Yy, Yo) = rrrnnrmmmnaae e (6.2.15)
C(x,2) (x,2) ppm
(ng )
X
z
9, my m s kg m s
u m s
] 40<= © 90°
W (x:y1,¥2)
. -1 Y2 _ Rey
W(x:y1,92) —Z[erf (G@) erf (G\/})]
erf(W)
erf(W) = \/%fow e dn
Yu Y2
©+x90< Vo
Y1
i
L L
S=a-exp (0.89 — G=y-exp (—2.45 u-sine)
p A a y B
() 1.5 2.4 0.89 0.16 1.47><fy
() 2.5 5.4 1.03 0.12 0.036
() 2.5 1.07 0.71 0.107 0.018
() 1.5 4.4 0.86 0.12 0.94><fg
fg = —-3.12
B exp( 3 u-sine)
0
L kW m?
0.6
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1.0 40<

A
C(y, Z) = (u-cf;9)0.5 . e X W(y:xl’ xz) ................................. (6_2_16)
C(y,2) (. 2) ppm
mg m
y
z
9, my m s kg m s
u m s
0 0= © 40<
W (y: x1, %)
. _ \/y2+Gzzz) _ \/y2+Gzzz>
W(y:xq,%x,) = erf (61 BN erf |G, N
erf(W)
X1, X
X2 X1
X1
246,22
o (652 -
L L
A=329xp(-28——) G, =y exp(-161——)
0
L kW m?
0.6
Y G,
() 0.063 6.49
() 0.143 5.24
() 0.143 1.63
() 0.063 8.25
1.0
C(x’ Z) = (x12T+GZ§)S X W(x:yl’ yz) .......................................... (6_2_17)
C(x, z) (x,2) ppm
mg m
X
z
91 my m s kg m s
W (x:y1,¥2)

Wxiysy2) = 2[tan! (22) - tan™t (2]

Yu Y2 Y2
A = 0.76exp(—2.76L)
S = 0.83exp(1.29L)
_ (5.5exp(—=4.3L) L=Z0
B {S.Sexp(—77.6L) L<0
L: KW m?

0.6
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b) JEA

) m s 40<
Clor 2)=Qu it ey e[~ BEHHE)
'[Lﬁfz‘}j‘)}i]"‘sdsu[ﬁg%zit]'fﬂ/(xiyn 32) e (6.2.18)
C IRE
x O EFEHSR LRI E TOEEERE (m)
z  IEMEHEO® S (m)
w o (m/s)
Qr : FRIFEBEHGEEE (kg/m/s, m'y/m/s)
He ' #itiiE & (m)
Xo I FRIED S OREFRIEEE (WIHBIEEZNE, m)
§ IRELEMmEORTAE
NI
I HB1EOEE~y VB
W I HBRR
W, 9 = El/z'[eff(c‘yz/ Vx)—erf (Goy/ vx)] (32> 0)
0 n<»n=0)
U, ef (W)=2/Vz[ ep(—)at
# . h o & &
ST | e | B | BREE | P
4 VAR - SEE | 7.2 2.16 1.07 2.4
[ e 5.4 5.4 5.4 5.4
s VAR - 3E | 2=1.03 | «=0.71 | a=0.71 | «=0.86
7 m| 4=1.03 | «=1.03 | «=1.03 | «=1.03
2 AR - 3EE | 0.036 0.018 0.018 | 1.47-FB
7 | 0.036 0.036 0.036 0.036
c T4 - 48 | 9=0.120 | y=0.107 | =0.107 | »=0.16
ps Wl ,=0120 | »=0.120 | y=0.120 | »=0.12
p S - JaE 2.5 2.5 2.5 1.5
m| 95 2.5 2.5 2.5
S=aexp (0.89—L—) FB=exp(—3.12—=—)
G=yremp(—2.45-—5—) L ISR (/)

F(x)=f:°exp(-—t)-z*‘*dt

=3 1

x v m
2 miTeimr 1) 2

196



m s 40<
@ A 1 . 1 . .
Clx, 2)== (iecost) [HW,,(x.yn )t W_(x iy, )] coenen (6.2.19)
Bo=(x+x%)+ G, (z+ He)?  (EEFIE)
W : BR%hE
—1 —erf (G VB/ V3s) m=0, »>0)
Welx iy, y)= —erf(G eVBt/\y)-erf(G eVBt/Jy,)  (>n>0)
EEEE o W<3»=0)
WO & #
NTA—F |
7 S A AT
a=6.98 a=6.98 a=3.29 a=23.29
WHE - 978 | p=3.36(L=0) | A=2.80 gA= 5=3.36
A B=11.3(L<0)
- . a=8, 98 a=6. 98 &#=3.29 a=23.29
£=2.80 3=2.80 | B=2.80 | B=2.80
T :EE . %
G, :é# ﬁ?'i y=0.143 ¥=0.143 y=0.143 vy=0.143
G SEIE - S 5.24 4.32 1.63 6.49
: =2 @ 5.24 1.63 1.63 1.63
PSR
Gzy-w(—l,slw—é;?)
m S
Clo, 2)=2upe Al LW, (x: ) ke W (x : )} TP (6.2.20)
B 9 BE+ + -V, M B - sV W 2.
, = (x+2%) 2+ G+ (2. He)? (S EIE)
Welx 231 ) == (tan™ () VB —tan™ (n/ VB2) ] (85 FINED

NS X—F | B B M # OE A
4 JEiH - HEE | A=1.86 exp (—0.948-L)
= 261 A=0.76 exp (—2.76+L)
S N - FEE | S=0.47 exp (1.29-L)
= 281 §=0.38 exp (1.29-L)

A - HE ) G=3.9
W (Lz0) | G=5.5 exp (—4.3-L)
(L<0) | G=5.5 exp (=77.6+L)
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2)

U (6.2.9)
3)
(6.2.21)
10 20
29
[NO,]¢ 0.051 [NOx]g-3% 1 [NOX]gs /7 [NOX]y OB i (6.2.21)
[NOX]r ppm
[NO,1x ppm
[NOXTec ppm
[NOx]+
ppm [NOX]; = [NOXJg + [NOX]es
4) 98
98 (6.2.22) (6.2.23)
10 20 29
[ 98 1 a [NO]ee + [NO,]x +ho (6.2.22)
a. = 1.38 + 0.07 EXp _[NOZ]R / [NOZ]BG
b = 0.0085 + 0.0013 exp  -[NO,]Jz / [NO,]g
[NO.1x ppm
[NO-]&c ppm
[ 1 a [SPM]ss + [SPM]: F D e (6.2.23)
= 0.59 + 0.85 exp -[SPM]z /7 [SPM]gs
= 0.0553 - 0.0373 exp  -[SPM]s 7/ [SPM]es
[SPM]: mg/m?
[SPM] ge mg/m?
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6.2.13

6.2.13

6.2.33

6.1.3

6.2.33
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